






























Ext x 2 6

2 2 2 62

E y 3 5

15ftc 6 2 y 5 3
x 4

Ex3 2x 10

2zqL

E

I 8

2 4 842
X Ig x 8 4
x 5 x 32

Exs
2 3 11 EKG 5 3 17
2x 11 3 5K 17 3

2x 8 5 20

x L x 20
5

2 4 x 4

Exercise

Linear Equations









Equs with an x term on both sides

Ex Ex 8

7 8 3 56 5 132 14 5k

7 3 c 56 8 57C 52 14 32

42C 48 10x 18

x 48 x

4

x 12 X 1.8
or 18
or 14

Equations Involving Brackets



Exa

3 2 1 33

Gx p 3

2 1 3

6 3 33 2 1 33
2 1 11

Gic 30 2x 11 1
x 3 22 10

x Ex 5

x 5

Ex to
2 5 3 3 x 1 17

10 6 3 3 17

10x 3 x 3 17 6

Tx 14

x

K I 2









Word Problems Involving Linear Equations

Et Alan is twice as old as Bill
Colin is 5 years older than Alan

Colin is 17 How old is Bill

Let Bill be x years old
Alan 2x

Colin 2x 5

2x 5 17

2x 17 5

2x 12

x 2 6

Bill is 6 years old

Ex2 John's dad is 3 times as old as John

In 12 years time dad will be twice
as old as John How old is John now

Let John be x now

Dad now 3x

In 12 years time John 2 12
Dad 3 12

3 12 21 12



3 12 2 24

32 2x 24 12

x 12

John is now 12 years old

Let lowest be x

the others are 2 2 2 4

X X X 2 2 4 189

3 6 189

32 189 6

3x 183

x 183

x 61

Numbers are 61 63,65


